1. A plane flies from New York to California, a distance of 4500 km. Its altitude is 9500m. Recall that the earth’s radius is 6400 km.

a) Find the angle of rotation, in radians, when the plane flies from New York to California. Round to the nearest thousandth.

b) Express this measurement to the nearest degree.

c) How far does the plane actually travel, to the nearest km?

d) How far would this plane travel if it went halfway around the world?

e) Find all radian values for θ between 0 and 2л for which:

2. Change to radian measure. Use a co-terminal angle if it is larger than 360º.

a) 170º



b) 340º



c) 700º



3. Change to positive degree measure.

a) –π



b) – π /3


c) 15 π /11

4. The terminal arm of an angle is in the second quadrant of the unit circle and 

sinθ = ½ .

a. Draw the reference triangle

b. Find the missing side of the triangle

c. Find tanθ

5. A circle has a radius of 5 cm. What is the arclength of a sector given by a rotation of 2π/3? Change your answer to a decimal to picture how many cm this is.
6. What is the reference angle for 
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7. The angle of 9 radians is show in which of the following pictures?
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